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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)

(ii)
(iii)
(iv)
(v)

1.
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Answers to questions carrying 1 mark may be from one word to one

sentence.

Answers to questions carrying 3 marks may be from 50 — 75 words.
Answers to questions carrying 4 — 5 marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

‘GRS el hl UHY kIS @ fomivdrd 9disu S SARRAl o A9’ hl

YHTferd Hdl @ e ek AT Tedrgd o ®9 H i hidl & |

Give any two characteristics of ‘Organizational Climate’ that influence
the behaviour of individuals and act as a non-financial incentive.

U o U dwd o &9 H Toepre’ (fehifen) o o aref 8 2

What is meant by ‘Decoding’ as an element of communication ?

“FHETET I HeAT TI WIS QT YGH el WHE THEH Jo-g g

Temfed <hi S aet fafyre foraneti 4 9t 8 | A9 SE1EE Y <kl 31 <
fafyre fopamd samsy |

‘Providing for social security and welfare of employees’ is one of the
specialised activities performed by Human Resource Management.
Mention any two other specialised activities of Human Resource
Management.
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4., 9 TS UdT o ITANeh Gal BT SUAN DA & AT U [0 ek or e

feaTe o gar < fae sfinif@ 2 & 2 oo i | 1

How are employees motivated to improve their performance when the

organization uses internal sources of recruitment ? State.

5. ‘focita Siftgw’ & w1 1199 2 ? 1

What is meant by ‘Financial Risk’ ?

6. ‘fo@ ey’ o 32T 1 Ioai@ HIfTT | 1

State the objective of ‘Financial Management’.

7. ‘BE & YT O F1 AU B 2 1
What is meant by ‘Management of Work’ ?

8. IEN & ‘faftres gatawer d = gfryferd g @ 2 3o <hifau | 1

What is included in ‘Legal Environment’ of Business ? State.

9. YSY  Ush b o &Y H TSI ohl TNHTNG HifvT | 1

Define ‘organizing’ as a function of management.

10. 3R T & Ush awd o ®9 § Ielica bl 319 ST | 1

Give the meaning of ‘Responsibility’ as an element of delegation.

11.  FSHT % T TR o &9 § Tafer’ =61 o79f e | 1
Give the meaning of ‘Method’ as a type of plan.

12. ‘GEI-TeEE gRI 91 fMeif fohen St § 2 1
What is determined by ‘Time-Study’ ?

66/3 3 P.T.O.
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g1 & fou srfq-smasaes 3 |

Explain any three functions performed by a supervisor that are vital to
any organization.

14. UeRd SHM ITcl Teh hidHl TSH! shehdd ToifHes 4 feameft & 99 $© T 301
W TEqd e, f9&@ 9gd 9 Uee AThiNd gU | 9¢1 8% HIT I QU HH 6
AT srofl A 31U % I TGl @ AN 1 W HYE [RAT &1 9gd Al
SUSE off | oy gRI ShH=iEl o |19 370 oFagN & I $9El § SIQ
AT ST H I T =TEd o | Hh IcUTal ohl SR H Sgd i " of,
Teh iRt 3 IcaTal <l Fohed hL ot | TRt & Icurgl shi STEIRT 3 EfRR
g1 TR RIifeh TUTaT % RO TS shehd fAfHes o IcUTEl ol WRIGHT THITH
1 Yciteh HAT ST T |

(31) IcUG-Trl 38 Wewqul U @l ggEre vd gwemsy e we
IR 3 TSH shepd feifiee o 3cute =l afiFan & |

(@) o frdl @ geai &1 oft gt 5 ueleh shepd foafies @ o1
TEIfva e =Edl B |

ABC Crackers Ltd., a fire-cracker manufacturing company launched

some new products on the eve of Diwali in the market, which attracted
many buyers. To meet the increased demand the company employed
people from nearby villages where there is a lot of unemployment.
Because of the good behaviour of the management with the employees,
more and more people wanted to join the company. As the products were
in great demand in the market, a competitor imitated the products. The
products of the competitor were not accepted by the consumers as it was
a status symbol to buy the products of ABC Crackers Ltd. because of
their quality.

(a)  Identify and explain the product-related decision because of which

consumers preferred the products of ABC Crackers Ltd.

(b)  Also identify any two values which ABC Crackers Ltd. wanted to
communicate to the society.

66/3 4



CBSE:

. . . . Y
15. ‘Wi THESS oo oM I H & AT A0TeE T Ia, S com fra s

>

& gFa Rl 2 | Ul fonedl i sl ol gHeEsy | 3

‘Stock Exchange not only contributes to the economic growth, but
performs many other functions.” Explain any three such functions.

16. THI Th 01 H TR YN W SR 2 | % 93 o TER 39 e
8 H¢ HR HAT IS @ TAT I8 A FTOAR HIGEEH HL Gehell off | FH A
3TeRersH H foha, fTEeh Rl 98 SiuR g T8 R 38 319 R § gl ol
ugt | TRt o ot 3Heh IR U fodr &1 bl 3R 7 & I8! Hed & SR § IBdS
1 | 35! I8 TEHH BT o I8 T FHD AERISASA hl &l T HL 91 &I off
STefh IHeh! HS 3T JELIHATG 14} ft a7qul 8 718 off |

() 39 IIeog H UHAl I 3G HLd §L BHT ohl 37 ITERIBAI ol
Tga-Y {8 a8 QU o wehl @ |

(i) 39U SATERIBATHA % §1G 3 Tl GHT hl 37 q1 HTGRFHAT3t =l ot
Tmese o 39 oneft off HgE S AW R | 3

Huma is working in a company on a permanent basis. As per the job
agreement she had to work for 8 hours a day and was free to work
overtime. Huma worked overtime, due to which she fell ill and had to
take leave from her work. No one showed concern and enquired about her
health. She realised that she was fulfilling only some of her needs while

some other needs still remained to be fulfilled.

1) By quoting the lines from the above para, identify the needs of
Huma which she is able to fulfil.

(i1)  Also explain two other needs of Huma followed by the above needs,

which still remained to be satisfied.

66/3 5 P.T.O.
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3RSl o Tl o TRV Td HaYa o oI IUMIRRT TTG| Ik {chidee A ffesors

forgl 19 st 1 Seoi@ hifvT |

State any three functions performed by consumer organizations for
protection and promotion of interests of consumers.

Iunrhret o Frefafad sIferl i qwss
(i)  GI 1 ATBR

(i)  efagfd =1 TfeeRR

Explain the following Rights of Consumers :
(1) Right to be Informed

(i1))  Right to seek Redressal

o gerg & “Faw’ wa “focfie’ ot =1 319 dfse |

Give the meaning of ‘Investment’ and ‘Financing’ decisions of financial
management.

W & <2 Gidi o foheal = A1l 1 S hifsTu |

State any four advantages of external sources of recruitment.

o fafies ater-died 1 i o Wi oft | ot grT 38k EETe o Yo 9y

H NI 3 hadl S ANTAl i & IU i & L 791" off | 31 &l dgH

% TOTT et o W ST o SR I Tovervor fopem | faeeior o qe=rq SRt |

foota feran

(i) 9| &N Bl %A HE % fau 3@ il geE @ W@ fUss &9 §
TG L feam e et Aeglt 95 A g W I9eed & |

(i) HieR dicgred &1 @i € fohn S iR dR-dR foeet anw
qTeT-Eed ol IcTed A o ST |
3E8 T hael SikgHl & geen fentt, sfig o sewdl 1 gfd # ot wee
B |

(31) 39w aftla Tere & 3Ll ! TESTT Td FHTST |

(§) U@ T Goa! T Iooi@ HIFTT 1 HFo FHTS <l TEIS HET =madt § |
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Mega Ltd. was manufacturing water-heaters. In the H85% . s jicioknsh b

operations, the revenue earned by the company was just sufficient to
meet its costs. To increase the revenue, the company analysed the
reasons of less revenues. After analysis the company decided

1) to reduce the labour cost by shifting the manufacturing unit to a
backward area where labour was available at a very low rate.

(i1) to start manufacturing solar water-heaters and reduce the
production of electric water-heaters slowly.

This will not only help in covering the risks, but also help in
meeting other objectives too.

(a) Identify and explain the objectives of management discussed
above.

(b)  State any two values which the company wanted to communicate
to the society.

‘ST Yaiarer’ i SraUren o 39k fohedl 9 faisansti sl gHesT |

Explain the concept of ‘Business Environment’ and any three features of
it.

ST T HAIA o TG TER G & | T 1 Hd 7 b Yo I wH=1al
|1 ATHT T ST HAT AT, ek GEL HI AT 8 Toh HHATNAT ol Tfrq(d
HI 6 IS &aar W) AR gt =nfgu qeun 98 3= vy Sfied TR YeH
aTedt B =R |

3T Tfeee H Sfcdfad HAld Td eR o gl @l Jgar-T Td FHemsy |

Principles of Taylor and Fayol are mutually complementary. One
believed that the management should share the gains with the workers,
while the other suggested that employees compensation should depend on
the earning capacity of the company and should give them a reasonable

standard of living.

Identify and explain the principles of Fayol and Taylor referred to in the

above para.

7 P.T.O.
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“Safrer fospa’ o1 w1 319 B 2 U 1= Toshan o feRegl ofiF TOTT Rl TwWETET | 5

What is meant by ‘Personal Selling’ ? Explain any three qualities of a
good salesman.

o <1 fenegl aTa HimeTi &1 Ioai@ hIfu | 5

State any five limitations of planning.

ISt e 3R gt e # frefefed snaml W st Hif 5
(i)  wfawrf

) I

(i) sty

(iv) Toaw af

(v)  dtddi

Differentiate between ‘Capital Market’ and ‘Money Market’ on the basis
of the following :

(1) Participants

(11) Instruments

(iii)  Duration

(iv) Investment outlay

(v)  Liquidity
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e wa = & aew TuH) greey @l gHeEsy | B 1 Conplete e caseunaens
HAYAT
=T <1 wifsha o fafsr= <ol st eS|
Explain the relationship between planning and controlling.
OR

Explain the various steps in the process of controlling.

g & faefafgs st A ssmen Fifso 6

i)  3curg 1wt (feaed) wa fasm

(i)  YATHIRTET Te SIufieRTr ShiAT

(iii) UTgsh TEEAT g

(iv) 3cq1Gl sl Hod-Hemm

HAAT

Ty foRTe aEqeT Td Harsti o Yadd o T U AT IuT H A A
I W § ¥ TH @, a0 I8 S5 et i Wi war 7 | uE
fepral IR SATATATST bl THEATST |

Explain the following functions of marketing :
) Product designing and development

(ii))  Standardization and Grading

(i1i)  Customer Support Services

(iv)  Pricing of products

OR

‘Though advertising is one of the most frequently used media of
promotion of goods and services, yet it attracts lot of objections.” Explain
any four such objections.

9 P.T.O.
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Th G139 bl “hIcH AT <hl TGN sl HHSATSY | hidcHe GT=HT 6
foprgl = et bt oft TmEsY |

With the help of any four points, explain the crucial role that organizing
plays in an enterprise.

OR

Explain the concept of ‘Functional Structure’ of an organisation. Also,

explain any four disadvantages of functional structure.

HrEfie ISt i STEvIhdT Sl IHIFId i dTct awdi o &9 § FHefafaa i

SR hHIT

) JqH <sh

(i)  HeTe BT

(i) =l AT hl ITeHd]

(iv)  Sfa=ifmEn &1 &)
HAAAT

TR ol ol THTfed SR Aol deal o &9 H HEfaRad i samen i

(1)
(ii)
(iii)

(iv)

IYTSIF T TATRIT
Hfg GATH
kg YA feurfd
ET IR

10



Explain the following as factors affecting the require rfr“:ﬁjﬁfu aﬁﬁﬁf;ﬁ;gmm”
capital :
) Business cycle

(i1))  Operating efficiency
(iii)  Availability of raw material

(iv)  Level of competition

OR

Explain the following as factors affecting dividend decision :
1) Stability of earnings

(ii))  Growth opportunities

(iii) Cash flow position

(iv)  Taxation policy

66/3 11



